F£190 XRR VUV INRTZAKE
X5 NEEEZEFE)—JHESE

BT REHFLART=—RXa—+
£A8KM:£811:00

TR20F12H21H(H)

45— LR/ —T RN T—S

PA= K4 i 1 2 3 JIE 32
1 Hik #£Z (KTC) DEF DEF 3
A 2 & Est (59TS) wo @-3 1
3 ErK # (59TS) wo 3—@ 2
Jnovys| B K4 i 4 5 6 = iva
4 | @A HAF (KTC) 1—-@ 0—@ 3
B 5 HEE 18 (S9ITS) @—1 1—-@ 2
6 | A FHRF (S9ITS) @—0 @—1 1
Jayy| C K4 i 7 8 9 IE 32
7 N # (F£1%) @—1 3—-@ 2
C 8 48 XK (59HTS) 1—-@ 1—-@ 3
9 % wg (594TS) @—-3 @—1 1
Jovs| D K4 RE 10 11 12 13 |IEf
10 | ZH % (5v4TS) 1-@ 3-@ 3I-@ | 4
5 11 Bl &3h (S9ITS) @—1 @—2 3—@ 1
12 WR B (S9ITS) @-3 2—@ @—1 2
13 | 4@ Fz (SvTS) @-3 @-3 1—-@ 3
(B4 31
12 h—F A AT =L/ —FRNOT—2
[ mE & | Gyt f—,
7] mew | @w» p—7F 2
|s| #@m@ | Guots) |—p .
| 2| B8 8% | Gwory) fp—mour— > ‘
| 3| e @ | Guors) b—-r ]
(] &m s | Gty oo~ !
| 6 | wm &5F | Gvots) | . .
S 3
[o] wam | Gwry |—r B B 83 GTS)
k i EEE  MA FEF(GVITS)
3AGIh—F Ak AT —LER/—TFENT—D $3{u WE B (SvoTS)
| 10 | B 4 | (SwHTS) ) EE #I(SUTS)
|+ 2m BR7 | «10O 0 !
@l FZ(SvTS)

8] #8 28 | Svu19)

c

BEEEREZS

S



